PURCHASE DIVISION Advice for approval for credit to supplier

Date:	13/10/2020			Prepared by:			MINISH		
PO/WO no.	70659			PO / WO Date.		•	28/09/2020.		
Supplier Name	Bakhai. Buterpris		le).	PO/WO amount		. !	39782/		
Firm/Company	SSLLP	1)	_	Project			SHLLP		
Sl. No.	Bill No.	,		Bill Date			Bill amount		
1 .	044			26/09	2020		30,782/	_	
2				,	,				
3									
4									
Amount A – Bills	total(Excluding Transp	ort & Ham	ali Char	ges):			30,782/-	-	
Sl. No. DC N	lo	DC. Date			MRN No).	DC matches MR	N	
1.					83	141	Yes 🗆 No		
2.							□ Yes □ No		
3.							□ Yes □ No		
Amount B -Other	Credits: Transportation	on charges					-		
Amount C -Other	Debits:						_		
Amount D (D=A-	+B-C) - Amount to be	credited to	the supplier:				30.782/-		
Amount E – PO /	WO value:						30,782/-		
Amount F – Diffe	erence (A – E): GST-13	8%							
Quantity received	as per PO/WO		☐ Yes ☐ Excess received ☐ Short received ☐ Other (explained below)						
Is difference bety	veen PO / Bill acceptab	ole?	Yes I No (explained below)						
Excess / short ma	iterial received		(□ Approved – within acceptable limits □ No (explained below)						
Close PO / W?O			✓ Yes □ No - wait for balance material □ No (explained below)						
Advance paid / PDC given (deduct when paying)				□ Yes – Rs. /- ,2 No					
Payment – due date				18/10/2020.					
Remarks:									
Approved by	Purchase Purc Officer Man	hase A	Manage	AED	M D	Accounts – receiver of		Accounts Manager	
Sign:	128		5 UCT	-2020		bill			
Date		MANAC	VISH F SER PRO	ARIKH CUREMENT					

Notes: 1. In case amount to be credited to supplier and the bills total does not match prepare JV for debit or credit. 2. Attach additional sheets if quantity of bills or DCs is more than the space provided. Clearly mark the space provided with 'see attachment'. 3. Purchase Officer can approve Pos/Wos upto Rs. 10,000/-, Purchase Manager or Procurement Manager to approve all bills from 10,000/- to 1,00,000/- . 4. Attach JV, Office copy of PO/WO, DCs and bills to this advice. 5. In Amount A, exclude transport, Hamali charges, etc and instead include in Amount B. 6. To be approved by accounts manager if bill value exceeds Rs. 10,000/- 7. MD to approve all bills above 1,00,000/-

Tax Invoice

BAKHAI ENTERPRISES	Invoice No.	Dated			
8-7-177/3 Swarnadama Nagar	44	26-Sep-2020			
Military Dairy Farm Road, New Bowenpally, Secunderabad.	Delivery Note	Mode/Terms of Payment			
GSTIN/UIN: 36CBGPB9988R1ZJ	Supplier's Ref.	Other Reference(s)			
State Name: Telangana, Code: 36		70659 14921			
E-Mail : bakhaienterprises@gmail.com Buyer	Buyer's Order No.	Dated			
Summit Sales LLP	·				
5-4-87/3 & 4 II Nd Floor M.G.Road	Despatch Document No.	Delivery Note Date			
Secunderabad	203				
GSTIN/UIN : 36ACQFS2044C1Z7	Despatched through	Destination			
State Name : Telangana, Code : 36	Tata Ace	Cherlapaly Kingston P.G. College			
	Terms of Delivery				
	_				
	TAN ORDER				

SI No.	Description of Goods	HSN/SAC	Quantity	Rate	per	Amount
1	Pvc Reducer Tee 110mm X75 mm	3917	30 PCS	131.53	PCS	3,945.90
2	Pvc Ptain Bend 4"	3917	90 PCS	81.69	PCS	7,352.10
3	Pvc Reducer 110mm x 75mm	3917	60 PCS	57.16	PCS	3,429.60
4	Pvc Bend with Door 3"	3917	90 PCS	57.38	PCS	5,164.20
5	Pvc 3" Door Tee	3917	45 PCS	72.54	PCS	3,264.30
6	Pvc Rigid Elbow 11/2"	3917	125 PCS	18.09	PCS	2,261.25
7	Pvc Rigid End Cap 11/2"	3917	90 PCS	7.43	PCS	668.70
					-	26,086.05
	CGST 9% Output			9	%	2,347.74
	SGST 9% Output			9	%	2,347.74
į		-				
1						
			t			

continued ...



BAKHAI ENTERPRISES 8-7-177/3 Swarnadama Nagar Military Dalry Farm Road, New Bowenpally, Secunderabad. GSTIN/UIN: 36CBGPB9988R1ZJ State Name: Telangana, Code: 36 E-Mail: bakhaienterprises@gmail.com Buyer Summit Sales LLP 5-4-87/3 & 4 II Nd Floor M.G.Road Secunderabad GSTIN/UIN: 36ACQFS2044C1Z7 State Name: Telangana, Code: 36		Invoice No. 44 Delivery No. Supplier's F Buyer's Ord Despatch E 203 Despatched Tata Ace Terms of D	rite Ref. Jer No. Document No. d through	Mod Othe 706 Date . Deli	Sep-20. e/Terms er Refer 59 149 ed very Not	ence 221 te Da	
SI Description of Goods		HSN/SAC	Quantity	Rate	per		Amount
Re	ound Off						0.79
	Total		530 PCS			Rs	30,782.32
Amount Chargeable (in words)			<u> </u>			113	E. & O.E
INR Thirty Thousand Seven Hundred Eigh	hty Two a	nd Thirty 7	Two paise (Only			
HSN/SAC	Taxable		tral Tax		e Tax		Total
0045	Value	Rate	Amount	Rate	Amour	nt	Tax Amount
3917	26,086.		2,347.74	9%	2,347	7.74	4,695.48
Tax Amount (in words): INR Four Thousand	26,086. Six Hundi		2,347.74 Five and Fo	orty Eigh	2,347 t paise		4,695.48 y
Declaration We declare that this invoice shows the actual prigoods described and that all particulars are true correct. Customer's Seal and Signature	ce of the and	Bank Name A/c No.		ank Of Ba 33020000 imulgher	00286 ry & BA	ALEN	TRIHYD ITERPRISES

This is a Computer Generated Invoice

BAKHAI ENTERPRISES

#5-4-83/85, Shop No. 3, T.S.K. Chambers, M.G. Road, Secunderabad - 500 003. Telangana, India. Cell: 8885830406, 8106929255 / 040-42619120 GSTIN: 36CBGP89988R1ZJ

D.C.		HALLAN	D-4	21/2			
To, M/s	Summit Sales 110			e:26/09/2020			
CL	restapally Kings on P.G. College		23/09/20	14921			
	IN_36ACOFS2044C1Z7	-])Z0			
Cell	No	Delivery No	•				
S.No		Vehicle No.	:	. >			
	DESCRIPTION	Quantity	Rate	AMOUNT			
11	Sudhakar 75 mmx 110mm Red-Tee	3000					
2	Sudhakar Homm Plain Bond	1					
3	Sudhakar 75 mmx lower Roduces	90pcs					
4	Sudhakar 75mm Dom Roud	90pcs					
5	Sudhakay Trum None Too						
6	Sudhakar somm PV Rigid Illand		100				
7	Sudhakar Somm PVC Rigid End Cap 90 pcs						
8	. 0 +	10 pcs					
9							
10			·	SERTIES .			
11				A INWARD S			
12		Certifiec b		5 Date: 6 16			
13 14	INWARD	- Cimer of	0				
15	Inward No: 14975 Df: 26 9 20 Received By						
16	131911:)				
10		Manay	er				
1	SUMMIT SALES LLP		Fotal====				
	I	WARD	ST EXUS				
	Inward No: S		otal Amount				
. Subje	ct to Secundarahad Issael Received By			ENTERPRISES			
Good	nterest will be charged if the payment exceeds 15 days sonce sold will not be taken back.	IT SALES L	1	Alata			
	I SUMM	II SUPES F		ignature			
elikar garanan ga	ertaan dage op het de de de verkelijk onder de	•	-				

Pagg(s) 1 Of 2

23-09-2020 10:47:59 AM

Original

21.09.20 12:56:23

From Company: **Summit Sales LLP**

5-4-187/3&4, II nd floor,MG Road, Secunderabad-500003.

G S T No.: 36ACQFS2044C1Z7

Supplier Details			
Bakhai Enterprises	Doc No	70659	14921
5-4-83/85 shop .no.3, TSk Chambers, MG Road, Ranigunj Secunderbad	Doc Date	23-09-2020	
	Quote No	Nil	
GSTIN 36CBGPB9988R1ZJ .	Quote Date	23-09-2020	
8885830406	SupplyType	Supply	

Kind Attn: Mr. Aakash Bakhai

Purchase Order for the Supply of following Items.

Item Name	Qty	Rate	Dis%	GST	Amount
1 7434 - Plumbing - PVC - Reducer Tee - other - nos 75mm x 110 mm	30.00	201.99	34.88	18.00	4,656.37
2 10030 - Plumbing - PVC - Bend Plain - 4 In - nos 110 mm	90.00	125.44	34.88	18.00	8,675.11
3 7239 - Plumbing - PVC - Reducer - 4 n - nos 75mm x 110 mm	60.00	87.78	34.88	18.00	4,047.09
4 10024 - Plumbing - PVC - Bend with door - 3 In - nos 75mm	90.00	88.11	34.88	18.00	6,093.46
5 10027 - Plumbing - PVC - Tee with door - 3 In - nos 75mm	45.00	111.40	34.88	18.00	3,852.07
6 10039 - Plumbing - PVC - PVC Rigid Elbow - 1 1/2 In - nos 50 mm	125.00	24.09	24.88	18.00	2,669.22
7 10244 - Plumbing - PVC - Rigid End Cap - 1 1/2 in - Nos 50 mm	90.00	9.89	24.88	18.00	789.00
upees: Thirty Thousand Seven Hundred Eighty Two and Paise		Total O	der Value	e	30,782.32

Terms	and	Conditions	٠.
1 (11113	anu	COHURGOIS	

Specification / Brand	All items shall be of 'Sudhkhar' brand.
-----------------------	---

Payment Terms

Within 10 days of delivery.

Tax

VAT included in above price.

Delivery Date

Next Day.

Delivery Location

Summit Housing LLP

Cherlapally, Behind Kingston PG college, Hyderabad

9618244433, Hamendra,9502266233, Mahesh.

Penality For Delay

Nil

Transportation Cost

Included in the above price.

Warranty

Nil

Advance Paid

Nil

Other Terms

We reserve the right items not confirming to qlty & specs. Breakage in your account. Above order for stock maintain purpose.

Completion Date

Nil

Measurment

Nil

Security

Nil

For Summit Sales &LP **Authorised Signatory**

Accepted the above Terms And Conditions

For Bakhai Enterprises

Date : __/_/__